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Candidates are required to give their answers in their

1.  Answer any ten questions:

own words as far as practicable.

2x10=20
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a)

b)

Distinguish between relative and absolute

poverty.

b € SiCs{fER wifoas ey 21y (re |
Define Sustainable Development.
STZIR THACTR I WG |

What is the infant mortality rate ?

e g ae e

Define ICOR.

ICOR -@3 71gesl 7ie |

What is Verdoorn's law?

Verdoorn-493 oz &2
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What is meant by the urban informal sector?
20 ORI (7 o100 B QIR

What is the forward linkage effect? Give
example.

TES] AL LSl FE0S F (@R 2 THIERE TG |

What is meant by economic dualism?
(o5 (aoam 2

Can you indicate a situation where the Lewis
model would show capital accumulation without
any increase in employment and total wage

payment?

Lewis GG G (Sl S=%! WO F409 17 T2
G FPRE @ (G G AR I 218 e
AGe 203 ?

Mention the sub-indices which are considered

for measuring HDI.

T CHAS IR AR gy 1 27 93
Tl T 99 |

Define social capital.
Aifers Jerd 62

What is the youth dependency ratio?

T3l fTSaeia T I 01 2
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m) What is meant by the gender gap in education ?
rpla (wea foroi-2piss <ei0e 6 (e
n)  What is the Malthusian population trap?
Malthus-@3 G W 52
o) State the 'inverted U' hypothesis by Kuznet.
Kuznet &I C=Hital 'U" S0 S 54 |
2. Answer any four questions: 5%x4=20
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a)

b)

d)
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How do Rostow's stages of Growth differ from
those of Marx?

Rostow @il e Sdiafes Sas waefer At
T SPRES A4 (FIAR 2

"Economic development is something more than
the Economic Growth". Explain

GGl Tmw wiLftafes Jfa wsrw g @
— I AN

Explain the concept of Static and Dynamic

surplus of labour with respect to the estimation
of disguised unemployment.

AoRe (JIG ATICoR Tge ¥ FRfeiier @ sifsHiat
izl vfG i 9 |

Explain Clark-Fisher's view regarding the
transition of an economy.

93 e ST Forwa EEw TR
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g)

h)

Explain the Capabilities approach towards

Economic Development.

e AR S Saaea qi=el®
9|

Explain the concept of Optimum population.
IR SR LI 1 4|

Name one index that captures the gender
discrimination in an economy. What are the

components of this index? 1+4

G GF B S 9 A Temifefes smwaiives
SAfeIlol T | G2 IbCpe exiafer 5 52

Identify the areas of possible government
intervention to reduce the poverty and inequality
in income distribution in developing

economies.

TazelieT SN0 Ve TR0 S SIRRGC ()
VR, (I (I CFASTEICS TR T T,
ol fofere 541

3.  Answer any two questions: 10x2=20
@- (I 7B Ao S wie 8
a) 1)  "Workers base their migration decision on
their expected income"—Explain this
proposition with a suitable model.
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b)

d)
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11)  Suggest some policy measures to restrict

rural-urban migration in this context.
6+4

B ZPTCET alfsI-*12d S BeR CHicd g i
TN e < |
Explain the notion of poverty trap as explained
by Nurkse. Explain the relevance of the Big-
Push theory of Rosenstein Rodan in overcoming
this trap. 5+5

Nurkse @we wifz@y Fwa =i i< 91 92 7w
wfw@ s F19 &= Rosenstein Rodan-3 (&7 4@
(Big-Push) ©(ga ©iesf) 14 4 |

Explain the possible sequences of projects in
an unbalanced growth strategy. 10
ST G (RIS e emmreferd ARy ARef
1T P |

What are the limitations of the 'Head count ratio'

and the "poverty gap ratio' in the measurement

of poverty? 5+5
viifsimy ARSI M2l Sl @ S T SgATes
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